O_REXPOWER

SGP-1A SERIES GEAR PUMP

/

SGP1 series gear pumps are environmental friendly products with the features of low noise, smart structure and easy installation.
The pumps are widely applied in the industries of hoisting and conveying machinery, road machinery, environmental protection
machinery, light industry machinery,etc.

The pump has been the first option accessory parts for variety of environmental friendly main equipment.

SGP1 * 32 D S H 1 — L * %%

Product Code Code number
Mounting spigot diameter: Position of ports: Mounting: Rotation
Omit: ® 8255 Df R%ar port H: Horizontal 2 bolts:106 _ R: c.Iocl:kwklse.
C: © 8024, F:Side port H1: Horizontal 2 bolts:130 L+ anti-clockwise
0 (on cover rear)
A: ©82.55, A: Side port Shaft Type
B: ® 8550 (on body) 1: SAE spline: 16/32DP, Teeth No.:13, Length:42
2: Flat key (dia. 20)
Nominal Discharge: Port configuration: 5. SAE spline: 1§/32DP, Teeth No.:10, Length:33
H: Rectangle spline: 6-20*16*4, Length:70

19, 23,25, 27,30, 32, 36 1: SAE flange port (side only)

H1: Rectangle spline: 6-20*16*4, Length:41.5
Inlet: ®25; 52.4*26.2; 4-M10*1.25

9: Special

Outlet: ®20; 47.6*22.2; 4-M10*1.25

2: G screw thread (JISB2351)

same as PF

Inlet: G1

Outlet: G1/2, G3/4

3.UNF screw thread

S:Inlet M27*2  Outlet M22%15

S1 (Atype port apply to the

displacement of 30 * 32 - 36)

Inlet: M33*2  Outlet:M27*2

9.Special

SPECIFICATION
i Pressure (Mpa) Rotation Speed (r/min) i
Model Displacement Yolu metrl_co L(mm) | Weight (kg)
(cc/rev) Rate Max Rate Max Min efficiency (>=9%)

SGP1-19 19 1155 410
SGP1-23 23 1185 430
SGP1-25 25 1225 4.60
SGP1-27 27 20 25 2500 3000 600 92 1245 4.80
SGP1-30 30 126.5 5.00
SGP1-32 32 1315 540
SGP1-36 36 130.5 5.80




O_REXPOWER

/ SGP1SERIES GEAR PUMP
/" Oil Port in Style D

14

30 | 25 6.5

|

5
2 | H
=5 —
o 5 -
- o =
s 2 =
wl
See “Shatend”
Displacement 23 25 27 30 32 36
(cc/rev)
Al 117 118 122 124 128 132
SGP1 SERIES GEAR PUMP
-~ —
/" Oil Port in Style A
B
A
65 | |_
| 4-M10x1.25
[
5 Y
é 8 K J’ﬁx [
= L — = Qe
o S — | = A P2 | o s Y . W O A =
2 —
2y [ S e RaTEI e
o ® -
) -
2 ® Cath
See “Shatend” 17 17 [
1
Displacement Inlet/ Outlet port
A B
(cc/rev) Cl C2 D
30 64.3 124
32 66.3 128 |26.2/22.2|52.4/47.6(25.0/20.0
36 68.3 132




O_REXPOWER

®

SGPTSERIES GEAR PUMP

/" Oil Port in Style F

59 59 B
A
6.5
——
=0
] \kh% = Flange Port
fe T 17 1 5% 513
|2 NP
© @
Al : 3 |
— = &4
Outlet Port il g
E— See “Shatend”
Inlet Port
Displacement 23 25 27 30 32 36
(cc/rev)
A 107.0 108.5 112.0 114.5 1185 1225
B 130.5 132.0 135.5 138.0 142.0 146.0
I: 5 2: Straight Spline
SAE SAE
42 33 ‘
No.of tooth 13 33, No.of tooth 10 20 L Flange
D. P. 16/32 T D. P. 16/32 = 2o | ~
Pressure angle 30° - Pressure angle 30° L - ,
C.P.0.1963” = C.P.0.1963” = 1 .
Over pin ida — Over pin ida —— — r
2 21.80 - 2 17.043 24 |[|— % |
@2 21.68 1N 2 16.916 | '|‘_ —L '
Pin dia. 18.63% — Pin dia. 213.86 L i
H, H1: Rectangle spline 9: Special ord
Flange side
70(41.5) P
53(25) |/ 4 90w
! Shaft end D b | L
| o .
NE——— L = Straughtspline |, 6.0 225 | 420
| g No.2
|

( )Dimension of No.H1 Shaft type




O_REXPOWER

®

SGP2 SERIES GEAR PUMP

/

SGP2A series gear pump is external gear pump possessing axial clearance automatic compensation and radial hydraulic balance,
adopting three opening struture. The bearings are DU bearings and the side plate is bimetallic material. The front and rear
covers, are made of aluminum accessory with high strength. The middle part is consist of iron casting and the surface is covered

with metal ceramic. All above improve the performance, lifetime and reliability of the pump.

SGP2 * 32 D 1 H 1 — L kKK
Product Code Code number
Mounting spigot diameter: Position of ports: Mounting: Rotation
Omit: P 82555 '? g{«;ar port H: Horizontal 2 bolts:106 L R c.IO(I:kwklse_
Z: ®10235 (on C'ovif’g;r) H1: Horizontal 2 bolts:130 :anti-clockwise
A: ©82.555, A: Side port Shaft Type
B: ©101.6.005 (on body) 1: SAE spline: 16/32DP, Teeth No.:13, Length:42
2: Flat key (dia. ©20)
Nominal Discharge: Port configuration: 9 Spedial
20,23,25,27,32 1: SAE flange port (side only)

36,40, 44, 48,52 Inlet: 25; 52.4*26.2; 4-M10*1.25

Outlet: ®20; 47.6+22.2; 4-M10*1.25
2: G screw thread (JISB2351)

same as PF
Inlet: G1 Outlet: G3/4
3.W screw thread
9.Special
SPECIFICATION
i Pressure (Mpa Rotation Speed (r/min
Model Displacement (Mpa) p (/' ) | Inlet Pressure Weight (kg)
(cc/rev) Rate Max Max Min (Mpa)
SGP2-20 20 49 (4.4)
SGP2-23 23 5.1(4.6)
SGP2-25 25 245 9.4 3000 5.3(4.8)
SGP2-27 27 5.4(4.9)
SGP2-32 32 400 0.02-0.2 57(.1)
SGP2-36 36 2000 e 5.9(5.3)
SGP2-40 40 22.6 27.5 (2500) 6.1 (5.4)
SGP2-44 44 20.6 24.5 6.3 (5.6)
SGP2-48 48 18.6 22.6 3000 6.6 (5.9)
SGP2-52 50 17.2 20.6 2500) 6.8 (6.1)




O_REXPOWER _

/ SGP2 SERIES GEAR PUMP
/' SGP2-XXFIHX_LXXXX

L1 6.5
R47.5
L2 See shaft type
4-M10 i .
e See Mounti t
Deep 22 ‘ ee Mounting spigot type
éﬁ_ﬂ [_ A I
A | e
p; L
H ._{3;?_.._..__._,. '
=1 -
o
; Bw LY [
108 262403 | Y ﬁ\ ]
130 @25
4-M10
Qutlet Port Coep 22 Inlet Port
Inlet Port [
w ! Praa
”E 3 & ¥ o«
L = : } o
. 4- H
i
: 3
L &
| ¥/
61 60 I
30.2+0.3
@32
/  SGP2 SERIES GEAR PUMP
—
/" SGP2-XXATHX-LXXXX
R47.5
L3 6.5
L4 See shatt type
12.5 See Mounting spigot type

Outlet Port

L4

52.4+0.3

{

Inlet Port /

1| ™ I T
i b L, . QOutlet Port
B Inlet Port @32
61 61




O_REXPOWER

SGP2 SERIES GEAR PUMP
/' SGP2-XXD2HX-LXXXX

R47.5

L3 6.5 See shaft type

|

=

See Mounting spigot type

Nominal L1 L2 L3 L4
Displacement
20 140.9 99.6 1074 52.8
23 1439 102.6 1104 543
25 1459 104.6 1124 55.3
27 147.9 106.6 1141 56.3
32 1529 1116 1194 58.8
36 156.9 115.6 1234 60.8
40 160.9 119.6 1274 62.8
44 164.9 123.6 1314 64.8
Inlet port G1 Outlet port G3/4 48 168.9 127.6 1354 66.8
52 172.9 1316 1394 68.8
SGP2 SERIES GEAR PUMP
L
/" Dimension of shaft end
SAE spline Shaft type
12 " 5 Item Value
Flange Side £l g Teeth No. 13
(]
@ g D.P. 16/32
o sl ® Pressure angle 30°

Distance of measuring bar 24.819~24.891

S I L Diameter of measuring bar ®3.048




